3520C Bed, Banjo and Tailstock
Assembly

Product Images

///////
https://jpw-catalog-qa-b2c-2.corevist.cloud/3520c-bed-banjo-and-tailstock-assembly



https://jpw-catalog-qa-b2c-2.corevist.cloud/3520c-bed-banjo-and-tailstock-assembly

Description

Index
Number

10

11

12

13

14

15

16

17

18

19

21

22

22-1

22-2

22-3

22-4

23

24

25

26

27

28

Part Number

3520B-140
3520C-202
TS-0207071
TS-0680021
3520C-205
6295754
3520C-BA
TS-0650081
6294770
3058001
6710015
F006048
3520C-212
3520C-213
JWL1440-206
3520C-215
TS-0271031
3520C-127
TS-0267021
JWL1440-207
TS-0570031
6295902
6295905
6295904
6295903
6295906
3520C-TA
3520C-223
6295717
3520C-225
TS-1490021
3520C-227

JWL1221VS-227

Description Size

Powermatic Nameplate
Backer Plate

Socket Head Cap Screw
Flat Washer 1/4"
Bed

Stop Bolt

Banjo Assembly (includes #7 thru 21)

Hex Nylon Lock Nut 3/4"-10
Clamp

Clamp Bolt 3/4"-10
Socket Head Cap Screw #10-24x1/2"
C-Retaining Ring, Ext S-22

End Cover

Tool Rest Support Base

Locking Handle 3/8"

Tool Support Rod

Set Screw 3/8"-16x3/8"
Lock Handle Assembly

Set Screw 1/4"-20x1/4"
Tool Rest Lock Bushing Set

Hex Nut 3/8"-16

Ball Bearing Live Center Assembly (includes #22-1 thru 22-4)
Live Center Cap

Live Center Tip

Live Center Body

Live Center Rod

Tailstock Assembly (includes #23 thru 49)

Tailstock Quill

Knob M8
Cover

Hex Cap Screw M8-1.25x16

Lead Screw

Key

https://jpw-catalog-qa-b2c-2.corevist.cloud/3520c-bed-banjo-and-tailstock-assembly

1/4"-20x1-1/4"

Qty

8/24/25


https://jpw-catalog-qa-b2c-2.corevist.cloud/3520c-bed-banjo-and-tailstock-assembly

29

30

31

32

33

34

35

36

38

39

40

41

42

43

44

45

46

48

49

50

51

52

53

54

55

56

57

58

Additional Information

JWL1640EVS-323
6295910
3520C-231
3520C-232
6760102
F006050
3520C-127
TS-0271031
TS-0270011
3520B-125
3520B-126
3520C-148
F010987
F009669
3058001
3092095
6520009
3520C-248
6095038
3520B-251
3520C-251
3520B-150
TS-0209061
TS-0720091
TS-0680041
6294742
LM000301

3520C-258

Socket Head Button Screw
Lock Handle

Brass Bushing

Tailstock

Socket Set Screw
C-Retaining Ring, Ext

Lock Handle Assembly
Socket Set Screw

Socket Set Screw

Tailstock Handwheel
Swivel Handle

Magnet

Flat Head Socket Screw BO
Socket Head Button Screw BO
Clamp Bolt

Clamp

Nylon Lock Hex Nut
Eccentric Rod

Bushing

Comparator Rear Center
Lock Handle

Comparator Rear Bracket
Socket Head Cap Screw
Lock Washer

Flat Washer

Tool Support

I.D. Label, 3520C (not shown)

Black Stripe (not shown)

#10-32x5/8"

3/8"

#10-32x1"

S-25

3/8"-16x3/8"

5/16"-18x1/4"

M3-0.5x10

#10-24x3/8"

5/8"-11

718" x 1" x7/8"

3/8"-16x1-1/4"

3/8"

3/8"

14"

3/4" x 51"

Stock Number

Products in this set

1353001-4

https://jpw-catalog-qa-b2c-2.corevist.cloud/3520c-bed-banjo-and-tailstock-assembly

8/24/25


https://jpw-catalog-qa-b2c-2.corevist.cloud/3520c-bed-banjo-and-tailstock-assembly

